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arent function. Graph the parent

Describe the effect of each transformation on the p
ain, range, and y-intercept

function and its transformation. Then determine the dom
of each function.
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State the domain and range of the given function. Then identify the new values of the
reference points and the asymptote. Use these value

function.

11. h(x)= 3" -1

Domain:
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Asymptote:
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Range: (— ¢0,-2)
Asymptote: Y= -1
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Describe the transformation(s) from each parent function and give the d mam and

range of each function.

Transformations: . )
VL Flip  -Shitt Right

cChift Up L
Domain: (- ¢ 0, 20 )

Range:

1,\‘+3
4. f(x)=— -6
7% 5
Transformations:

Domain:
Range:
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